/N A HERE A 5250

mm #FEFE ity /07 20 Je 475 20— TR 5 [ Hk £ 75 =0

T Tt il H AR - A B B B 5
/O BRYR I EHEE T 2V 1
HEE I Bkfis ) - Mg f%ﬁ%} /ffz ¢ 250mm L=2. 00m ZS 86 ¥SJS
ﬁﬁ% /ffz ¢ 250mm L=2. 00m A 1 KA T — M
j%f%\] /ffz 6 250mm L=2. 00m * —~ SSJS
ijfog /*fmZ ¢ 250mm L=1. 00m * - S TS
foONlﬁnz 6 250mm L=1. 00m A 1 M T — I
oiﬁfoﬁ/*fmz ¢ 250mm L=1. 00m & B
it T | it e+ ¢ 250mm | m 169. 0
PELE - AR— RS T m 169. 0
HHEAL | m 169.0
A EA L m 169. 0
Pe s T m3 56
SHAEATR T £
sk L gfa s ) — NE ¢ 250mm m 1.6
SEHIARZERE L 180° =7 U — LA ¢ 250mm m 3.4
R i T 2y 1
sinT SEHER, 6 250mm A
" B, ¢ 250mm i f&iF 2
SHUEBT FEtE wHTCHE  @E -
" E 5 & -
Holv L AR, 2. 4mEEAT &7 | 2 FAF=7" V=)
n M, 2. 4m,EHT T 1 FAF=7" =}
y SR, 2. n T @y - WEr—sy
n M, 2. 4m,fET BERR AL T 1 FAF=7" =}
HEERR i SRk B4 T ¢ 250mm (GBI 1
HEXERR (i S Hn 4 T ¢ 250mm £ 1
SRR T ¢ 250mm & T 2
Se R T ¢ 250mm Sy EETIR &7 2
XERET ¢ 250mm FHAL (H-200 % 200) fE AT 2 0.70 t /87T
Se K ST i T ¢ 250mm ] 1




Y

FHESLTLUNEIE T AT —7 L —Pi

7

BIG A

VEN

£ giin i & =<¥iva Hoi e
FAF—TL—h 5.012X2.500 t=2.7mm
ETEIRES m 5.5
RHI -8 T m 4.7
RO I (m) (5.0
t 2.31
Wit Gt e 1) m 2.8
MR L (DR 1 - B 1) ) 0.4
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+ I
Eel HAR=L 7Y —NE m3 15.6
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AEER B T As t=5cm m 12.8
LB As t=5¢m nf 20.3
AT RC-40 t=22cm nf 19.0
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2. JEHI TR LT
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5.000 X 0.4612 t/m
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Wim s G - WE ) 0.161
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3.fET

1.000 X 0.4612 t/m
4. HEEL
5.000 — 1.000
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4.00 X 0.4612
5. AV T/
x/4x(  0.360 + 0.10 )"2

x/4x(  0.360 + 0.10 )"2
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6. HIAEA(Z 77 h )
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T3 HUEMEa 7 ) — b (18-8-25)
{r/4 X 2.50°2 + (5.012- 2.50) X
8. MLYLILAER A =0. 20

n/4 X 2.50 2 + (5.012- 2.50) X
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0. 850
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5.511 -

5.511 -

2.50} X

2.500

m/m

0. 850

1. 500

0.161

11.

.511

. 661

. 306
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. 350
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. 350

. 000
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.678
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.50
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AL b - Fy ~ (HEJIH)
(10 X 10 + 8 X 8)

ALk - F v b (hITH)
10

(4 X + 4 X 8)

1m™Y4 7= HEE

461.2 ~ (n X 2.500 + 2.512

SR
fe P (H-200 X 200 X 8 X 12)
5.000 X 0.055 X 8
fEkE L (H-300 X 300X 10X 15)
2.900 X 0.100 X 2
fEkE L (H-300 X 300X 10X 15)
2.900 X 0.100 X 2
g 7 (H-300X 300X 10X 15)
Ll1= 2.500 — (0.200+  0.300 ) X 2
L2= 2.500 — (0.200+  0.300 ) X 2
( 0.950+ 0.950) X 0.100 X 2
8. AL

2.200 + 0.580 + 0.580 + 0. 380

9. RIEAE (1)

3.740 X 0.22

10. BIERET (B)

3.740 X 0.04

11 R T EE

3.74+ 0.823 + 0.150

12, BimE T

— 0.050
— 0.500
— 0.050
— 0.500

= 260.0

= 168.8

22.5

9.9

= 461.2

= 35.81

= 2.200

= 0.580

= 0.580

0. 950m

0. 950m
0. 380

= 3.740

= 0.823

= 0.150

= 4.713

= 1. 00

kg/m
461. 2

ke /m?
35. 8

(U —2#1)

(U —2A#1)

(U =A%)
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3.74

0.82

4.71
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13. 74 R= 7 J— b (18-8-25)
{3.25 X 6.00 - (n/4
X 0.30
14. 7 A FEHEREA (RC40 t=10cm)

3.25 X 6.00 - (x/4

X 2.5072 +

X 2.50°2 +

2.512 X 2.50)}

2.512 X 2.50)

2.493

8.311

2.49

m3

8.31

m2
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g ol _ 1050 _ % &
_ 1o :g
" 5012 % 2500 2
LYEEI (A Rar 7 Y — RER)
m3
6.000 X 3.250 X (0.850 — 0.050) = 15.600 15. 60
MR RERAEL
6.000 X 3.250 X (0.750 — 0.25) = 9. 750
{x/4 X (2.500+ 0.180) 2 + (5.012 - 2.500) X
(2.500 + 0.180) } X (5.511 - 0.350 - 0.750) = 54.578
FERRSY
< R —)L
n/4 X 0.82°2 X 0.006
+ xw/8 X (0.8272 + 1.0572) X 0.450
+ x/4 X 1.05°2 X 4.200
+ /4 X 1.1072 X 0.255 = (-)4.19
Z2RE
(0.550 X  1.681 + 0.570 X 1.681) X 0.550
+ /4 X 0.36°2 X 1.681 = (9)1.207
BRI 2R bR
0.319 + 0.350 = ()0.669
m3
= 58.256 58. 30
3. B sy
{n/4 X (2.50+ 0.18)72 + (2.50+ 0.18) X 2.512}
X (5.511 -  0.85) + 15.600 = 73.272
P ER () 58.256 / 0.9 = 64.729 64. 70
m3
D LIERE (H ) = 64.729 64. 70
m3
b5 v Al 73.272 - 64.729 = 8.543 8.50
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{3.250

X 0.30

ol

. EREERR O T (As)
(3.25
6. ElAERRIE T (As)

(3.25
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(3.25
8. &HE{RE 1A T (As)
(3.25
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20. 250
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2.49
L1 GRSy (As)

0.02

X

- AL55 (HEF)
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5 cm

0.125 ) X
5 cm

0.125 ) X
22 cm

6.00 -

3 cm

0.125 ) X

0.05

(/4

6. 00

/4

6. 00

K)HA Rz U — b

X 2.50°2+ 2.512 X 2.50)}
+  6.00

X 0.8272

- x/4 X 0.82°2

2.493

12. 750

20. 250

18.972

19. 722

1.013

2.49

0.02

2.

49

m3

12.

80

20.

30

m2

19.

00

m2

19.
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m2

.01

m3
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15




S 1(6. 0 X 3. 0) 3% & - Hik

SHESLHL (/NVHPE 5.012 X 2.50 )
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BEUAREREAL .-+ 1H1H e TR B2y

2. HIbFRRIE - it
SZHT (H-250 X 250 X 10 X 15)
6.00 X 2 X 0.080 t/m
A ([-200 X80 X 7. 5X 11)

(6.00 + 3.00) X 2 X 0.0246 t/m

18. 000
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M3011-1-1HBIESSHL(HE I AT —T 1L — )
FAF—FL—F ¢ 1.500 t= 2.7 m/m

L. HR AR

2. Yl T
MEOIA 5,000 m 5.300 — 0. 850

5.000 X 0.1675 i/n

AT
Eim -t ChstEt - B+ 2.260 +  1.500 0. 850
g+ (BEERS T - S 1) 4,450 -  2.910
LEL
4. MR L
5.000 — 1.000
t/m
4.00 X 0.1675
5. AV T

/4% ( 0.360 + 0.10 )2
/4% ( 0.360 + 0.10 )2

(0.166 + 0.166) x 0.0355  t/m’

6. HIATEA (7T ¥ h L)

0.09 X 0 x (1.500 + 0.09) x (5.300 - 0.750)

TN 7 ) — b (18-8-25)
/4 x 1.5072 x 0.15
8. M HTRLAE A

n/4 % 1.50°2

. 300

. 450

. 838

.910

. 540

. 000

.670

. 166

. 166

. 012

. 046

. 265

. 767

5.3

4.5

0.8

2.9

1.5

2.0

0. 300

1. 800

m3

m3

m3
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Im47- v E&
P-10 6 & X 26.0 = 156. 0
P- 8 0 #% X 211 e = 0.0
Ak -y (HEJFA)
(10 x 6 + 8 X 0) x 0.137 = 8.2
Ak -y @)
(4 x 6 + 4 x 0) x 0137 = 3.3
kg/m
i = 167.5 167.5
1m®47= 0 HEE
kg/m
167.5 ~ ( = X 1.500 ) = 35.545 35.5
(5550
8. KmaE L = 1. 00 1
13. A4 K27 J— 1 (18-8-25)
m3
{2.00 x 2.25 - (x/4 x 1.50"2) } X 0.30 = 0. 820 0. 82
14. A RILAEEA (RC40 t=10cm)
m2
2.00 x 2.25 - (x/4 x 1.50°2) = 2.733 2.73
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T I
2250 x 2000
2 A
HEREEIR
N | B {EiHIH po(_;
s T B S a. o=
o s o
! L — == i
i —il —
BE+TIEE
- ' : 2
_ L 8 1
g =
g
3 1050
= S
4 TH-HERE 3
2250
1100 L ]
Si—
] gl L]
#1500
LYEEI (A Far 7 U — RER)
2.26 X 2.000 X (0.85 — 0.050) = 3. 600
2K BERALT
2.25 X 2.000 X (0.750 — 0.25) = 2. 250
/4 X (1.500 + 0.180) 2 X (1.500 - 0.750) = 1. 663
ey
~ R
/4 X 0.82°2 X 0.050
+ /8 X (0.82°2 + 1.0572) X 0.300
+ /4 X 1.05°2 X 0.900
+ x/4 X 1.1072 X 0.000 = (9)1.015
= 2.898
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3.5k sy
n /4
bt OEM (1REK)
T Lo (1R #)
Vs Uy

X

(1.50 + 0.18)"2 X

2.898 / 0.9

13.464 -

4.7 ) — FEEEL - A5y (BEfR)

5. HiR=a 2 U — b (C=170kg/m3)

6. THEERREINWT T (As) t=

(2.00 +
7. SHEERAE AR T (As) t=
2.00 X

8. Ak 1. (RC-40)

t:

9. HiZEIEIH T (As) t=

10. A5 (AsBR)

4. 500

X

11. 385 (A7 Cobl)

0. 000
12. {5i_L5y (As)
0.01

2.25

22 cm

0.05

(5.30 - 0.85) +

3. 600 13. 464

3.220

3.220

13. 464

XK)TA Farr7J— R

8. 500

4. 500

= 0.225

= 0.000

= 0.01

m3
m3
m3
13.5
m
8.5
m2
4.5
m3
0.2
m3
m3
0.01
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) G
IR T (2. 0X2.0) & « ik

SHENIET Mo 1.50
1. BT 2.000 X 2.000 = 4. 000 4.0
BT T --- 1H1M = 1.0 1

2. b id - i

M7 (H-250 X 250 X 10 X 15) J—2
2.00 X 2 X 0.080 t/m = 0. 320t
A ([-200 X80 X 7. 5X 11) [N
(2.00 + 2.00) X 2 X 0.0246 t/m = 0.197t

WHast = 0.517 0.5
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JEER T (1 540N~ > 7 — L) HP ¢ 250

A=z y—F

2. FENH L BB

+

Lk 7 — |k

/4 X 0.90°2 X (0.17 + 0.25
n/8 X 0.25672 X 0.90
/4 X 0.9072 - 0.25 X 0.90
T X 0.25 / 2 X 0.90
e TWEETT
=] S ik RTE =t o
)\}L%ﬁ HJEEIEJ 18-8-40 i/}j L/
M3011-1 0. 125 0.119 0.432
0.119 0.432

2)

= 0. 166

= 0. 765

L& HT4 0

m3

0.77
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300
e ‘ 5 Ji : EIJ‘E(};EQT Oib”af
S S T [=] — I 7 150x @1
= = oy B = T
HE =N { H =
H L | - | H I niks
# #
5 L] ! i ' N NT— 100
5 AN mar—ssur
(RTEETAES
=
" wl = I 7 L-yIvh EE ¢ 100
i 2 e 2
" " QLo Yk 18825
) #
# H # ATl Ea—s@&m0° & RREO)
| @250% 6100
: i
ey A2080 ~((_) 1 h 7 HI
= - ] AL i
L = Ly
| & |
550 isj
300,
DRy
.y M3011-1 | M3011-1 [M3011-1-2
il Tt BEKiii BEKi
H1 80. 664 80. 684
12 83. 635 83. 954
e H 2.971 3.270
hi 0.425 0. 445
h2 0. 830 0. 850
h3 2.816 3.115
h4 3.391 3.710
h5 2.896 3.215
HeiE T
a7y —k {0. 275X 0. 255+ (h2—0. 255) X 0. 300} X 0. 550+ (h5—h2) X 0. 300 X 0. 300
EPERR HP ¢ 250 7 /4X0.360"2X0. 300 = 0.031
Vu o 100 7 /4%0.114°2X (h5-h1-0. 305)
P {0. 275 0. 255+ (h2—0. 255) X 0. 300+ (h5—h2) X 0. 300} X 2-+h2X 0. 550

+ (h5-h2) X 0. 300— 7 /4X0.360"2

7" v=vz/ N EEVu ¢ 100

H—0. 250-0. 055-0. 045-0. 120 =H—0.470

PR B {0. 275%0. 2554 (h2—0. 255) X 0. 300} X 0. 550+ (h5—h2) X 0. 300X 0. 300
EE

[ M30I1-1 M3011-1 [M3011-1-2] =

SO N5 3o M
2/)7-F 18-8-25 |m3| 0.319 0. 350 0. 669
2% ¢ 250 |m3 0. 031 0. 031 0. 062
PERR ¢ 100 [m3] 0. 022 0. 025 0. 047
a7 JV— ki m3 0. 266 0. 294 0.56
TP | 2.699 2.991 5. 69
7 V—x/} B VU100 |m 2.501 2.800 5. 301
L-VEIT X% A 1 1 2
B1ET-bN /) B 2 2 4
PR E m3|  0.319 0. 350 0. 669
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BHAI L% 14

a7 Y—F 0.300 X 0.300 X
PR ¢ 150 x/4 X 0.165°2 X
¢ 100 /4 X 0.114°2 X

Tl e 0.300 X 3 X
PR ¢ 150 /4 X 0.165°2
B FH90° K% ¢ 150X ¢ 100
HT—  $100
AHEHER

& f\'ﬁ/ HEME T HE | BN T
a7 ) —Fh m3 0.171
AP n . 1.962
7 V=vzyF EAE VU100 [m 5. 301
-0 B 900 %% A
B = VP B
WRERE m3 0. 669
B H90° T [ 3
77— & 3

. 068

. 006

. 005

. 057

. 675

. 021

. 654

m3
0. 06
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HEE e =—
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Wb =— &
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